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 MSW-004  

MASTER’S DEGREE IN SOCIAL WORK  

(MSW) 

Term-End Examination 

June, 2022 

 

MSW-004 : SOCIAL WORK AND SOCIAL  

        DEVELOPMENT 

Time : 3 hours                            Maximum Marks : 100 

Note :   Answer all five questions. All questions carry 

equal marks. Answer Questions no. 1 and 2 in 

about 600 words each. 

1. Critically examine the link between globalisation 

and inequality. 20 

OR 

 Discuss the development-environment debate.  20 

2. Enumerate the important Directive Principles 

and their significance. 20 

OR 

 Outline the main provisions of the laws for 

persons with physical and mental disabilities. 20 
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3. Answer any two of the following questions in 

about 300 words each :  

(a) Describe the different streams of migration. 10 

(b) How does industrialisation lead to social 

change ? 10 

(c) What is human development ? Discuss its 

components. 10 

(d) Evaluate the various models of 

development.  10 

4. Answer any four of the following questions in 

about 150 words each :  

(a) Identify the features of rural and urban 

societies.  5 

(b) How does technology facilitate  

globalisation ?  5 

(c) Discuss how an occupational structure 

undergoes change. 5 

(d) Explain concepts of gender, patriarchy and 

feminism. 5 

(e) How is the concept of equality and right 

against exploitation enshrined in our 

Constitution ?   5 

(f) What are the main institutions for legal aid 

in India ? 5 
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5. Write short notes on any five of the following in 

about 100 words each :  

(a) Rural-Urban Dichotomy  4 

(b) Industrialisation  4 

(c) Emerging Occupations in New Indian 

Economy 4 

(d) Sustainable Development 4 

(e) Modernisation  4 

(f) Demographic Transition Theory  4 

(g) Social Work and Human Rights  4 

(h) Pareto Optimality  4 
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 E‘.Eg.S>ãë¶y.-004  

 g‘mO H$m¶© ‘| ñZmVH$moÎma Cnm{Y 
(E‘.Eg.S>ãë¶y.) 

gÌm§V narjm 

OyZ,  2022  
 

E‘.Eg.S>ãë¶y.-004 : g‘mO H$m¶© Ed§ gm_m{OH$ {dH$mg 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  g^r nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g‘mZ 
h¢ & àíZ g§»`m 1 Am¡a 2 Ho$ CÎma bJ^J 600 eãXm| (àË¶oH$) 
_| Xr{OE & 

1. d¡ídrH$aU Am¡a Ag_mZVm Ho$ ~rM g§~§Y H$s g_rjmË_H$ 

Om±M H$s{OE & 20 

AWdm 

 {dH$mg-n`m©daU ~hg na MMm© H$s{OE & 20 

2. _hÎdnyU© {ZXoeH$ {gÕm§Vm| Am¡a CZHo$ _hÎd H$s JUZm 

H$s{OE &  20 

AWdm 

 emar[aH$ Am¡a _mZ{gH$ ê$n go {dH$bm§J ì`{º$`m| Ho$ {bE 

µH$mZyZ Ho$ _w»` àmdYmZm| H$s ê$naoIm ~ZmBE & 20 
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3. {ZåZ{b{IV ‘| go {H$Ýht Xmo  àíZm| Ho$ CÎma bJ^J  
300 eãXm| (àË¶oH$) ‘| Xr{OE :  

(H$) àdmg H$s {d{^Þ YmamAm| H$m dU©Z H$s{OE &  10 

(I) Am¡ÚmoJrH$aU go gm_m{OH$ n[adV©Z H¡$go hmoVm h¡ ?  10 

(J) _mZd {dH$mg Š`m h¡ ? BgHo$ KQ>H$m| na MMm©  

H$s{OE & 10 

(K) {dH$mg Ho$ {d{^Þ _m°S>bm| H$m _yë`m§H$Z H$s{OE & 10 

4. {ZåZ{b{IV ‘| go {H$Ýht Mma  àíZm| Ho$ CÎma bJ^J  
150 eãXm| (àË¶oH$) ‘| Xr{OE :  

(H$) J«m_rU Am¡a ehar g_mOm| H$s {deofVmAm| H$s nhMmZ 

H$s{OE &   5 

(I) àm¡Úmo{JH$s d¡ídrH$aU H$s gw{dYm H¡$go XoVr h¡ ?  5 

(J) MMm© H$s{OE {H$ EH$ ì`mdgm{`H$ g§aMZm H¡$go 

~XbVr h¡ &  5 

(K) O|S>a, {nV¥gÎmm Am¡a ZmardmX H$s AdYmaUmAm| H$s 

ì`m»`m H$s{OE &  5 

(L>) h_mao g§{dYmZ _| g_mZVm Am¡a emofU Ho$ {Ibm\$ 

A{YH$ma H$s AdYmaUm H¡$go à{Vð>m{nV h¡ ?    5 

(M) ^maV _| µH$mZyZr ghm`Vm Ho$ à_wI g§ñWmZ H$m¡Z-go h¢ ? 5 
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5. {ZåZ{b{IV ‘| go {H$Ýht nm±M  na bJ^J 100 eãXm| 
(àË¶oH$) ‘| g§{jßV {Q>ßn{U`m± {b{IE :  

(H$) J«m_rU-ehar {damoYm^mg 4 

(I) Am¡ÚmoJrH$aU 4 

(J) ZB© ^maVr` AW©ì`dñWm _| C^aVo ì`dgm`   4 

(K) gVV {dH$mg   4 

(L>) AmYw{ZH$sH$aU  4 

(M) OZgm§p»`H$s` g§H«$_U {gÕm§V  4 

(N>) g_mO H$m`© Am¡a _mZd A{YH$ma   4 

(O) n¡aoQ>mo BîQ>V_Vm (Pareto Optimality)  4 

 

      


